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I‘Qta
Oon j; :
gO%:op is mt'ensity of Maize-Mustard-
) (¢]
3009, (b) 200%
(d) 400%

¢ fo
) SO.Vab ean llowmg 18 NOT a Kharif crop ?
(b) Lentil

(d) Pigeon pea

‘F st
Go Ove ar Vxllage S

nt
’ relates t Wh]

(&) Electricity

cheme’ started by
of Indiq in September 2020
Ch one of the following ?
Supply

L b
) Posta] Service Schemes

(C) Health Serces
(d) anary Education

Wh
0 won the Us Open 2020, Mens Tennis

Singles Title on 14th September 2020 ?
(a) Alex Zverey

(b) Dominic Thiem
(c) D. Medvedev
(d) P. C. Busta

5. Which of the following pairs is NOT correctly
- matched ?
Ancient name
of the Cities

Modern name
of the Cities

(a) Esipattan ~ Saranath
(b) Dashapur - Mandsor
£ (c) Banvasi - Talkad .
. (d) Mahoday S
, The ear-lsy farming site located on the bank
E of lﬁ(e;largarh (b) Lahuradeva
:3 Chirand (d) T. Narsipur

or of the ‘Dastane Mazahib’ which
sses about the Din-i-llahi of Akbar, was
. dls;:;ohammad Rabbani

a) Mohsm Faanl

(c) Badauni

i Auth
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Taeh1-TE -4 BE 6 BOe Tsh qadT 2

(a) 100% (b) 200%
(c) 300% (d) 400%

frafafiaa § & FH-m1 v w06 waa @ L 7
(a) G (b) T

(c) ®uTd (d) 3=

W wR g R 2020 # & H 1 wa

wR Titg FAr Fefafea 3§ & fred daftm 2 7

(a) Torgga amgfd
(b) ST Qa1 I
(c) TaTEeg Tl

. (d) smerfires frem

14 Ryawar, 2020 @ fFEd 3.u@. 9= 2020 F
&Y el < Raarer Sfiar 2

(a) T R

(b) ST Rrew

(c) . AgIea

(d) dt. =t ==
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TR & i A TR & gfs ™
(a) SRyoE i TR <
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8.

10. -

11.

12,

; Il and select the correct
answer using the cogde given below.

(::::;Is) List-II

. (Highest Peaks)

A. Tamil Nagy 1. Dhoopgarh
B. Rajasthan 2. Saramati
C. Nagaland 3. Guru Shikhar
D. Madhya Pradesh 4. Doda Betta
Code :

A B ¢Cc p
@ 3 4 1 g9
B 1 2 4 3
© 4 3 2
@ 2 1 3 4

Match List-] with List-

Who was appointed the Minister of
‘Ministry of Rehabilitation’ set up on
06 September, 1947 ?

(@) S. P. Mukerji

(b) Sardar Vallabhabhai Patel

(c) J. L. Nehru

(d) K. C. Niyogi

‘Leopold Matrix’ is associated with
(a) Weather Forecasting
(b) Disaster Management

(c) Environmental Impact Assessment
Method
(d) Environmental Law

The Joint Sitting of the Indian Parliament for
transacting a legislative business is presided
over by

(a) The President of India

(b) The senior most Member of Parliament
(c) The Chairman of the Rajya Sabha

(d) The Speaker of the Lok Sabha

The term ‘Office of Profit’ has been defined
by the

(a) Constitution

(b) Parliament

(c) Supreme Court

(d) Union Council of Ministers

ENGT - 0'8”;

173 R ARG T A
yfﬂ;ﬁmwmmmw?“
%e 'Qiﬁ'l ?ﬁﬂ-ll 5
(@) Ry
PTG 1. 99mg
A'ﬂq@m 2. HRr ]
B. 4 3. 7% firy
ﬁ‘A B C D
w3+ 12
(b) 1 2 4 3
4 321
g 1 & =

(d)

06 fem, 1947 Ft vl fhy m
s 1 A R S T e

(a) TH. R, gasft

(b) TR

(c)ﬁ.‘l’a.ﬁ'ﬂa

(d) %. . Fanft

feriiee M dafta @
(a) HEH qEigH o
(b) TSI V& :
(c) Tatawer ftrrma i Jnree fafy
(d) FrfeRYr T

iy

10.
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AR seEm R E
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(b) ¥ 3wt v
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15.

116

17.

Wh;
ile ;o
dEmdmg any question relating to the

dig 3
qllahﬁcation of a Member of Parliament,

eSi . .2
(a) El -dent shall Obtain the oplmOl’l of

2 :

(b) 20% Protein and 409 oj]
(b) 409, Protein and 109 oj]
(©) 40% Protein and 209 oi

(d) 20y, Protein and 20% oil

As pt’tr the results of ‘Swachh Sarvekshan
2020, announced by Ministry of Housing and
Urban Affairs on, ggth August 2020, which is the
Cleanest City in Uttar Pradesh ?

(a) Agra

(b) Gaziabad

(c) Lucknow

(d) Prayagraj

How many teachers from Uttar Pradesh were

selected for ‘National Award’ on Teachers day
5t Sept., 2020 ?

(a) Six

(b) Five

(c) Four

(d) Three

Poshan Maah’was celebrated by Government

of India in the year 2020, in which of the
following months ?

(a) September
(b) AUEERS

(d) Jun

13.

14,

15.

16.

17:

TR THR gRT 8

CE
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e wee H Pregmadt @ wafta we @ fafvy
it @ T Pt 3 & Reeh T g
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(a) Frafert STt

(b) ¥ % TG =

(c)uma'ﬁﬁ

(d)mm%ma

T 3 ofter & ra T 3
(a) 20% WM T 40% It
(b) 40% S T 10% ¥t
(c) 40% S T 20% dt
(d) 20% WM T 20% et
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(a) 3T : '
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18

19.

20.

21.

Match List-I with List-11 and choos¢ the

correct answer using the code given below.
List-I List-II
(Text) (Writer)
Kiratarjuniyam Dandi
Dashakumar Kalidas
Charitam
Buddha Charitam

—

Bharavi
Ashvaghosha

C.
D.

Code :

Vvikramorvashiyam

(a)
(b)
(c)
(d)

w w5~ w
N = D=0
E N S S )

A
3
3
2
1

A large tank near Mahoba, temples at
Ajaygarh and Mahoba and city of Rajavasini
were built by a Chandella King

(a) Nannuk (b) Vakpati ~

(c) Rahil (d) Jayashakti

Which of the following Rights a cultivator
enjoyed on his own land during the Mughal
period ?

(a) Right to mortgage only

(b) Right to sell and gift

(c) Right to mortgage and gift

(d) All the above rights

Match List-I with List-Il and select the correct
answer using the code given below.
List-1 List-II
(Tribes) (States)
- A. Tharus 1. Madhya Pradesh

B. Todas 2. Jharkhand
C. Santhal 3. Uttarakhand
D. Gond 4, Tamil Nadu

Code :

(@)
(b)
(©)
(d)

WD =D
A= N WOW
N W= Q0
S NSNS -

-5-
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0 3 1 i
) 2 3 1
d 1 g 2 4
19. n@ﬂ%wwa%mﬁ,mamqg‘m.
qfaﬁamtmamwmﬁqﬁlﬁémm
T ol
(a) 7P (b) aTeid
(c) Tfet (d) St
20. wmﬁﬁqﬁlﬁﬂﬁﬁaﬂq—mmm
# st Foh yfy ot g & ?
(@) Fawt 1 % 1ET T@A H
(C)@ﬁm@‘q'mﬁm
(d) IR wft SAFER
21, T e @ ghfra iR 7en A e R
T T S O W R G
-1 o
(enfeameh /srremia) ;
A. UT%
B. 3.
C. 9y
D. Titg
A B
(@) 1 3 S
b) 4 o 1
© 2 1 3
@ 3 4 ,
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22, a1 G-I @ gafera Hg e A Ry

ith List-11 and select the correct
the<3°degivenbelow memwmwwml
List-II -1 HeAt-11
1. Uttarakhand A. AFH 1. IWEE
2. Arunachal B. TTEAAATS . FRUTEA Wew
Pradesh C. et 3. S
3. Kerala D. az.m %am 4 4. MU
4. Meghalaya
%
A B C D

(@) 4 3v 1/ 24
b 4¢ 3v 2 1
¢ 3 4 1 2
@ 2 3 4 1

23. TGl W TSRE F1 AT frerr &

(&) Income Tax (a) 3R/

(b) Customs Revenue (b) HI-3[e T @
(¢) F?_xcise Tax (c) SUTEH = @

(d) Surcharge on Income Tax (d) I AR

24. Which Article of the Indian Constitution | 24. WK WRyum % FH-W 3BT wHe =
empowers Parliament to make law for SIS Fusial Y T A F R Ry Ry

implementing international agreements » T IR T 27
(a) Article 249 (a) 3=z 249
(b) Article 250 (b) 3=z 250
(c) Article 252 (c) 31387 252
(d) Article 253 - (d) 3=de 253
; . Who appoints the acting Chj . A
(a) Chief Justice of India ) - . B

(b) Chief Justice of India with Previoys
consent of the President

(c) President of India

(d) President .,in consultation with :
Justice of India the Chief

B | -6-



n6. A combination circuit has inputs A, B and

27.

28.

29.

30.

31.

32.

C, its K-map is given below. The output of
circuit is given by

AB

. 00 ' 01 1 10
0 1 ]
1 1 1

(a) (AB+AB)C (b) (AB+AB)C

(c) ABC (d) A®B&C

Find out the integrating type analog to digital

converter from the following.

(a) flash type converter

(b) tracking converter

(c) successive approximation type
converter

(d) dual-slope analog to digital converter

The minimum number of 2-input NAND
gates required to realize the logic function
Y=AB+ABis
(@ S

(c) 6

(b) 3
(d) 4

Find the cut-off frequency for an RC low pass
filter of R = 8.2 Q and C = 0.0033 pF.

(a) 6 kHz (b) 5.88 kHz

(c) 4.26 kHz (d) 7.91 kHz

Why synchronous transmission is preferred
more ?

(a) it has no start and stop bit

(b) it is cheaper than asynchronous

(c) it is easier to implement

(d) less complex

A 400 W carrier is amplitude modulated with
m = 0.75. The total power in AM is

(a) 400 W (b) 512 W

(c) 588 W (d) 650 W

An air filled rectangular waveguide has
inner dimensions of 3cm x 2cm. The wave
?mpedance of the TE,, mode of propagation
in the waveguide at a frequency of 30 GHz is
. (free space impedance Mg = 377 Q)
(a) 308 Q (b) 355Q

(c) 400 Q (d) 461 Q

26.

27.

28.

29.

30.

31

32.

ENGT - 08

¥ PR A BICE, v
e 2 1 e 1 A

Q‘FW

fe
K-m"f’sﬂa
01 11 10
AB 00 1
1
c 1
] e
B (b) (AB+AB)C
(a) @Pé (d) A®BeC
(c) AB
ﬁqﬁaﬂq_mmmmmé%ﬁm
ofed® & 7

2_WNANDﬂzﬁ=¢Bmé@1ﬁﬁ'§wﬁw
| Y=AE+KB3%WW%%Q%

(b) 3

(d) 4

(@) 5
(c) 6 4
R = 8.2 Q3K C = 0.0033 pF % RC ¥g T8
et 3 R Fe-31% R 1 TH T1q HIT |

(a) 6 kHz (b) 5.88 kHz
(c) 4.26 kHz (d) 7.91 kHz

ToIHIIoTeh GOl hY ST 41 GG TRt St B ?
(a) 39 B¢ ST 3kt ara fe T @

(b) F® Agerehrieren HY gorm o awal ?

(c) ¥ AT FT o R

(d) ¥ Sfew 3

T 400 W aTEH m = 0.75 ¥ gre A AgRM
1AM g i
(@) 400 w

(©) 588 v (b) 512 W

~ (d) 650W

3em x 20m§ 3 X B .
| 30 GHz Y sy w A FaRE
LY TE, el j_ .

R (R g
(a) 308 Q ) 'C
() 400 ¢ EO20.1213122:06



38S.

36.

37.

38.

39.

40.

(@) 1000 (b) 5000
¢) 10000g (d) 500
A Cavity Mmagnetron uges strapping to

(@) prevent mode jumping
) prevent cathode back heating
(©) ensure bunching

(d) improve the phase focussing effect

A microwaye tube amplifier uses an axial

_magnetic field and g radial electric field. This
1S a

(a) Reflex klystron
(b) Co-axial magnetron
(c) Travelling wave magnetron

(d) CFA

In a circular waveguide, the dominated mode is
(a) TEOI (b) TE,,

(c) TE,, (d) TE,,

A hollow rectangular waveguide can NOT

propagate TEM wave because

(a) Of the existance of only one conductor

(b) Of the losses caused

(c) It is dependent on the type of the
material used

(d) None of the above

The most commonly used method for the
protection of three phase feeder is

(a) Time graded protection

(b) Differential protection

(c) Reverse power protection

(d) None of these

Discrimination between main and backup
Protection is provided by the use of relays
which are

(@) Fact (b) Sensitive

(c) Slow (d) None of these

Which of the following statements is correct ?

(@) Station batteries are used to operate
relay only

®) The lightning arrestors have surge
divertors

(©) An impedance relay has maximum

" fault current near the relay

igh speed relay has an Operation of
=2 cycles

33.

34.

35.

36.

37.

38.

39.

40.

- (a) TEy,

ENGT - 08

WH AT s e 2 |
(a) 1000 (b) 5000
(c) 100000 (d) 500

(b) TS A & ey 5 o
'(c)ﬁﬁﬂgﬁ%am%mm
(d,mmmmwm%m

mqmﬁhmmmmﬂqméﬁaﬂt
@ Bl A & 1 3vi een 2 | 98 8 T
(a) Rt FoTgEem

(b) TE-&fiT Aoy

(c)é?%ﬁ'l%am

(d) CFA

T i T B3R # g nie 2
(b) TE,,
(c) TE,q (d) TE,,

T GIEW AR 0 PR TEM @6 5
TR T R Heha1 F4IRE

(a) P T e W aAfa 2

(b) T T BT & o

(c) ¥® g veref & WeR W fnke 2

(d) ST & & I 7
ﬁmmx%m%mmmm
TR S e e @ ;
(a)?_mfa"nﬁgtm

(b) 3FeT Framm

(c) foeieft oy e

(d) 7 & e T

e o ST 8, S R
! (b) TaETHie
- (d) T A
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41.

42,

43.

45.

46.

47.

eed circuit breakers,

with the use of high sp g stability is

hich among the followin
w

i sed ? N
m)cgetgady-state st‘a‘blhty

(g) Transient Stabll.lt.y

((c) Frequency stability

(d) All of the above

The arcing contacts in a circuit breaker is

de of
(r:)a(:opper tungsten alloy
(b) Porcelain
(c) Electrolytic copper
(d) Aluminium alloy

A shunt reactor at 100 MVAr is operated
at 98% of its rated voltage and at 96% of
its rated frequency. The reactive power
absorbed by reactor is

(a) 98 MVAr (b) 104.02 MVAr .

(c) 96.04 MVAr - (d) 100.04 MVAr

Protective relays can be designed to
respond to

(8) Light intensity, impedance

(b) Temperaiure, resistance, reactance
(c) Voltage and current

(d) All of these

Which one of the following methods used for

solution of ordinary differential equations is
conditionally stable ?

(a) Euler’s method

(b) Milne’s method

(¢) Taylor’s series method

(d) Adams-Bashforth method

Which one of the following methods used for
solving non-linear algebraic equations has
rate of convergence 2.0 ?

(a) Bisection method

(b) Secant method

(c) Newton-Raphson method

(d) Muller’s method

Which one of the following methods is NOT

used for solution of non-linear algebraic
equations ?

(8) Regula-Falsi Method

(b) Milne's‘Predlctor-Corrector Method
(¢) Becant Method

Bisection Method

4l.

42

43.

44,

45.

463

47.

RSETch:
S R

ALANT ] - 08.3

MVAr T T ¥i¢ ST $ae dhuffia S
alsoga%qt R zEeht wfwiia smafy #t 96% w
Hrfera g1 2, foETaeh gR1 i shard
Eﬁf MVAr (b) 104.02 MVAr
(c) 96.04 MVAr (d) 100.04 MVAr

wueht et A = e & o sy fe
ST R

(a) SEhTer ftsra, wfeeman & frg

(b) TTshH, Sy, s ¥ g

(c) Sieew afk wmr % Ryg

(d) ¥ oft & forg

N Adshel Fieml st
=t fefrt & § sy
(a) IR & fJfy

(b) Tored Y fayfyy
(c)éa'(ﬁﬁ’}t’ﬁﬁﬁ:
(4) T -arwief fyfy

IR R 2.0 % st Sords FHT 3
I el o @ - AR s

W A & o wgw
il fRr g 2

(@) S5y

(b) ¥¥= %&m
() S -Ym iy
fafy

(@ e i

Wﬁ’éaﬁq_;nmwﬂﬁmt ?




o In a R -
F Triclinie Crystal, a lattice plane makes

i in,tercepts at a

3c
il length a, 2b and - The

€r indices of the plane are
(@ 3:6:4 (b) 6:3:4
(©)6:3:4 (d) 6:3:-2
49. The critical field needed to destroy super

Conductivity, is known as
(a) Hy (To/T) (b) H, (T/T,)?

Ry 2
(c) Ho [l‘[F) ] d) H, [1—(3—) }
e o

S0. The instruction for starting the computer
are housed in
(a) Random Access Memory
(b) CD-ROM
(c) Read Only Memory Chip
(d) All of the above

S1. When memory write or I/O read are active,
data remains of the processor.
(a) Input (b) Output

(c) Processor (d) None of these

52. While performing read operation, one must
taken care that much current should NOT be
(a) Sourced from data lines

(b) Sinked from data lines

(c) Sourced or sinked from data lines

(d) Sinked from address lines

53. A three phase induction motor has shaft
output of 16 kW. The constant losses are
1 kW. If the slip be 4%, the rotor copper
losses would be

(a) 600 W (b) 625 W
(c) 667 W (d) 720w
54. Inathree stack 12 /8 pole variable reluctance
motor, rotor pole pitch is
(8) 15° (b) 30°
(c) 45° (d) 60°
55,

The condition of a three phase induction
Motor at no-load resembles those of a
transformer whose secondary

(&) Short circyited

Pen circuited

(c Supplying a variable resistive Joaq

d :
(d) Supplying an inductive load

-10-

48.

49,

50.

o1,

52.

- 83.

54.

55.

NUL — UD

e P e f o A @, 20 ot~
T TG T R | o B Pren g 8

() 3:6:4 (b) 6:3:4
(c)6:3:-4 (d) 6:3:-2

Fferarerma & e % R smaves w8
fean e @
(a) Hy (T4/T) (b) H, (T/T,)?

(© H»[I‘(%J J @ H, [1—(—;—) ]
YR & H & Fraw e #F wd &

(a) teu TG AW

(b) CD-ROM

(c) Faet va Wt frw (e = At )
(d) ST wft

WF{ﬁI“writeﬂTl/O read”mﬁag’a"m
TRwmF_ HddmR

(a) Ffese (b) fia

(c) AT (d) ¥ & w1 T

g IMYA FQ gug fFdt < qEur wH =it
T s w6 g =Ry

(a) HiES BH ST WHH

(b) s win ST WIE

(c) B 3reran fyTe WwiR BT @

(d) s win vgw g

T frehen S e 1 Wi el 16 kw R, fRR
g:nﬁm;é;cw’é,wﬁaﬁw4%z\,?hﬂammﬁuf

(a) 600 W (b) 625 W

(c) 667 W (d) 720w
?ﬁ?@?m/agﬂfw&mﬂaﬁmﬁaﬁ,ﬂa
DCEREER

(@) 15° (b) 30°

(c) 45° (d) 60°

Rem W @ T P S Arex T @ Tw
Rufty Y sy et 8, fovet Rt

@) Wy oRofm

(b) e R

(c) witart Wi Wi F AR |

(d) S R STy =
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) & o9 w1 Fy 'y
: e N
3 angle ' is the angle between 56. zﬁ&fm pe 31&:5 s &
56. The torque 1d axis and resultant field axis (a) et o gl K N
(a) Rotor fie is and rotor field axis (b) . 7 =) &
Stator field axi . A 1 e o
(b) tor field axis and mutual field axis i i P
(c) Stato ( fomdy

d) Stator field axis and resultant field axis
(

In case of the air gap in an induction motor | 57, o &, a -
57. In d eI Eiouil
- l?ﬁ?ifggnetizing current of the rotor (ﬂ) ﬁ?,'( @ w1 a Vﬂ'&"ﬂ
B 1 decrease b) afdd 7 !
wil

(b) The power factor will decrease

o (F39) wifal @ smarht |

) The speed of motor wi.ll i‘ncrease ey ?
((3) The windage losses will increase (d) . i gﬁwg
A stepper motor having a resolution of | .58, q'qﬂ%‘ﬂ o E ‘Rl C'ik"flf %” Y i e -
58. 300 steps/revolution and running at 2400 aur 240 psd | ,
rpm has a pulse rate of pps. _____O___’ p—
(a) 4000 (b) 8000 (a) 400 ke
(c) 6000 (d) 10000 (c) 6000

; E 6-44, 50 Hz, it (fedrar &)
. A 3-phase, 6-pole, 50 Hz, squirrel cage [ 59. U& 3-%hedl,
> indugtion motor is running at a slip of AT 5% T T A @ R | Rex T=hHY 8 f

5%. The speed of stator magnetic field to 0, A gta'eﬁ'q 8 F Hﬁ&’f qUT e H 91,
rotor magnetic field and speed of rotor with T W a7 % ey gt

respect to stator magnetic field are £0 vom

(8) Zero, - 50 rpm (&) 3, - SO rp

(b) Zero, 955 rpm (b) ¥[F, 955 rpm

(c) 1000 rpm, - 50 rpm (c) 1000 rpm, - 50 rpm

(d) 1000 rpm, 955 rpm (d) 1000 rpm, 955 rpm

60. In a commutation circujt used to turn-off | 60. @EH.@.W.@Z#—WW%%QW@WH

an SCR, satisfactory turn-off is obtained, qﬂwﬁmmzﬁ-mm@m%, Siq
when gy f§3l$E
(a) Circuit turn-off time < device tum-off time (@) p &3 T 5 R STy i
(b) Circuit turn-off time > device turn-off time (6) -3 "H‘W 9 H-3T% o
(c) Circuit time constant > device turn-off time . (c) 9wy Frg Frar > feare oo LLil
(d) Circuit time constant < device turn-off time (d) 9fa% Ty fragie < fearsm - ay
61. ATRIACisa 61. W g™ (TRIAC) ?
(a) 2-terminal switch (a) 2-2fife farg
(b) 2-terminal bilateral switch (b) 22l vy 2y oy
(¢) 3-terminal unidirectiona] switch (¢) 3-2ffret vy M fg
(d) 3-terminal bidirectional switch () 3-2ffret vy 2Ry e
62. Two thyristors of same rating and same | 62, 5 & "Ryt fafadw (specificat;
specifications ® FQ TSRy ﬁ:&ﬁt il G atiom)
a) Will have al turn- d turn-off
(a) Bedog equ rn-on and turn-o (a) ﬁ-m C R R — TOECEN
(b) Will haye €qual turn-on, but unequal (b) ﬁ‘m T are g, faeg o-omw Y
© R}I.lm-oﬁ’ periods SR T g =5
€] May have equal or unequal turn-on ©) T ayepgy I - -ATF |y
and tum-of? periods 9 | TRy § L
(d) Will have unequal turn-on and turn-off
Periods

(d) T3t wdi - s T e E
-11-




. Assertion (4) :

64.

65.

66.

67.

. Inverter and choppers use
ast switching thyristors.

Reason (R) : Fast switching SCR has low
turn-off time.

(a) Both (A) and (R) are correct and (R) is
the correct explanation of (A)

(b) Both (A) and (R) are correct but (R) is
not the correct explanation of (A)

(c) (A) is correct but (R) is wrong

(d) (A) is wrong but (R) is correct

In a single phase fully controlled bridge rectifier,
the output load current I is ripple free. The
r.m.s. value of source current would be

(@) 2421/n (b) 1
(c) 1/2 (d) 1/4

Consider the following statements related to
dc drives :

1. Wide speed control range

2. High starting torque

3. High power to weight ratio

4. Fast transient response

5. No limit on highest operating voltage
Out of these statements

(a) 1, 2 and 3 are correct

(b) 2, 3 and 4 are correct

(c) 1, 2 and 4 are correct

(d) 3, 4 and 5 are correct

A 20 kW electric motor has heating time
constant 60 min. Iron loss is equal to full
load copper loss. The short time rating of
the motor for 15 minute is
(a) 43.5 kW

(b) 56.7 kW

() 60.0 kW

(d) None of the above

A220 v, 20 A, 1000 rpm,. separately
excited d.c. motor has armature resistance
of 1 ohm. The motor is supplied from
250 V dc supply via a step down chopper,

for operation of motor at 500 rpm at the
ue, the duty ratio of the chgp_gc:

67.

rated torq
should be

(b) 0.44
(d) 0.50

-12-

64.

66.

63. WU (A) : T AN W Fre R arhes

TN Q|

FRU (R) : i feafim g dt.om, 1 of-am%

I HH B R |

(a) 3 (A) 3l (R) 7t & 7o (R) , (A) S WA
T @l &

(b) 3t (A) 3 (R) & & 7o (R) , (A) F 7
ST 8 AT B

(c) (A) ®E! B fohg (R) Tt 2

(d) (A) TreTd B fobeg (R) wél R

T Gl el gl P dg Reewr § Frid MR
ur 1 3w a2 | @ o @A, B
=Ry
(a) 2V21/x
(c) 1/2

(b) I
(d) 1/4

65. o U SeA & grafe Aie FAT R Rer AR :

1. forga =mat = woE

2. 4 YO Ta-3mgul

3. 3= Vfda-"R 31U

4, 359 &forn TR

5. Jeaa YoM dleest i HiaT T8
FHE A @

(a) 1,2 3t 3 @t &

(b) 2, 3 3 4 & &

(c) 1, 2 3R 4 wdt §

(d) 3, 4 3R 5 wE &

TH 20 kW dgd Al F1 a9 @9y fREiw
60 fire & | &g &1, of S am &1 o s R |
e i 15 fime & forw @y wmz e @

(a) 43.5 kW

(b) 56.7 kW
(c) 60.0 kW

(d)zqéwﬁﬁﬁﬁﬁf

(c) 0.48

2020.12.13 22:07Z4=



ity ) - % ferg
Q ideration involved in the selection | 68, fyd) ﬁ,ﬁq 313'5@“ é%’a e T 4

68. ’I‘;ut:hceof:;pe of electric drive for a specific B frat T fnft s ?
: plication depends upon . (a) TR cokl qq@ a1 3EehH THfa
ok | range and its nature
(a) Speed control rang (b) T £ ;@7{?{ '
(b) Gtarting nature N A i
0 Environmcntal condition (c) gytatl
(d) All the above . (d) FH * aft
60 Asingle phase half-wave rectifier circuit has | 69, st @el a1g @l feeeerll aftay 3 B~ W
] free-\vheeling diode, the free-wheeling diode '@lﬁl R - %ﬁﬁm =E e o m - |
will conduct only if ' a g 2
(a) load is purely resistive (a) ¥R fagT@ w9 gfert
(b) load is purely inductive (b) T fagg 9 3 Yofig -3
(c) load is combination of R and L A Ll y '3
(d) load is purely inductive or combination (c) ¥R R 3 L1 F 1o '
of Rand L (d) s forgrg ®9 & 3 A1 R 3R L 7wl
70. Find the expression for peak capacitor voltage | 70. &m0 FRE e wfdhe # v guifa Sees & fim
in case of current commuted chopper circuit. stfiyeior 7 IR |
L L
Isi—= b g 2 L
(a) 0\/; (b) Vs+\/; (@) Io\/g (b) v, + % {%
- ' - 1
71. Which one of the following is NOT inherently | ;’”"?"@ﬁ;ﬂﬁ H-a1 wmfE w9 3 e
constant torque motor ? et "ﬂ% ? j
(a) DC series motor (a) f&.em. 3ot Tiex '
(b) DC shunt motor (b) fe.ur. wredf Iﬁ'{{ ;
© Poen o e

(c) Three phase induction motor '
(d) Single phase induction motor (d) T FeT o e r.
72. T 4-f% R/oR fefem @ T oRads 4

501 W02 2 | Aifye T 0 b
Frfa w1 2 'ﬁﬁQ‘ﬁzowla;mwm

72. A 4-bit R/2R digital to analog converter (DAC)
has a reference of 5 Volts. What is the analog

output for input code 0101 ?

(a) 0.3125 V (b) 3.125V (@) 0.3125°y (b) 3.125V
() 0.78125 V (d) -3.125V @O78125v  g) 125V
73. Which of the following equations satisfy the [ 73 zqmgmaﬂvﬁ & ¥ F-w J-K fRag-wid
JKflipflop? i J? . .
&) Qg = Qs * Ko 0 Quuy = 5,5
(B) Qps1 = InQn + KnQn (0) Quy; & Jn‘(‘.‘,nﬁ
(C). Qn+1 i JnQn + KnQn_. (d) Qll-*l = Jnan‘

(@) Que1 = JnQn + KnQn
-13-
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ENGT - 08

Ehe.“tpm f of the 4 : 1 MUX shown in 74, 4: | TEARFR (MUX) R # a1 2, W
818 g (Prfa) £
—? = P [ % 4.1 Mux
E ; f
Vv 2
cc Vee " 5

(@) Xy +x (b) x+y () xy+x (b) x+y
() X+¥ (d) xy+X () X+¥y (d) xy+%
7S. POS form of Boolean expression is suitable | 75, gftpm =iws %1 POS =7 wfbe Fraf=aa & fog
for circuit implementation, using F ¥4 T IYH 2 |
(a) XOR (b) NAND (a) XOR (b) NAND
(c) AND (d) NOR (c) AND (d) NOR
76.  The Boolean function A + BCis areduced formof | 76. ¥few b A + BC Pt w1 wern gam &9 2
(a) AB + BC (b) (A+B)(A+C) (a) AB + BC (b) (A+B)(A+C)
(c) A'B + AB'C d A+C)B (c) A'B + AB'C d (A+C)B
77. A 10-bit D/A converter gives a maximum | 77. T 10-ReD/A wRadwH i BT 1023 VE
output of 10.23 V. The resolution is 391 ﬁﬁﬁﬁﬁﬁ 2
(a) 10 mV (b) 20 mV (@) 10 mV (b) 20 mV |
(c) 15 mV (d) 25 mV (c) 15 mV (d) 25 mV |
78.  Which of the following expressions does NOT | 78. fr=ifiea =it % & ®-a1 x 3ik y %W
represent exclusive NOR of x and y ? NOR 1 Nfaffae T8 sar ? §
(a) xy+ Xy (b) x®F (a) xy+Xy ~ (b) x&F {
(c) X®y d x@F ' (c) XDy - (d) X®F

79. A ripple counters speed is limited by the
propagation delay of
(a) each flip-flop
(b) all flip-flop and gates
(¢) flip-flops only with gates
(d) only circuit gates

80. When aliasing take place

(d) Samr)lin i
; € signals at o
twice of Nyquist ratea Tate which is

2020:12/15'22:0
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82.

83.

84.

85.

86.

87.

81 Consider sinusoidal modulation in an AM

system. Assuming no over modulation, the
modulation index (1) when the maximum
and minimum values of the envelope,
respectively are 3V and 1Vis

(a) 0.7 (b) 0.5

(c) 0.3 (d) 0.8

The Q-factor of a waveguide resonator is

given by (@q is resonant frequency, U is
energy storage and o is power loss)

= Bt b _ 0p®

(a) Q ° ®) Q= ({JL
(c) Q=woUay, (d) Q=%
o

A speech signal is sampled at 8 kHz and
encoded in PCM format using 8-bit/sample
PCM data is transmitted through a baseband
channel via 4-level PAM. Minimum
Bandwidth required for transmission is

(a) 16 kHz (b) 8 kHz

(c) 24 kHz (d) 10 kHz

For best low level noise performance in the
X-band, an amplifier should use

(a) A bipolar transistor

(b) A gunn diode

(c) A step-recovery diode

(d) An IMPATT diode

A lossless line of characteristic impedance
z, is terminated in pure reactance of —jzy,
Voltage Standing Wave Ratio (VSWR) is

(a) 10 (b) 2
(¢ 1 (d) infinity

In colour TV receiver, varactor diode is used
for

() Deflection (b) Rectification

(c) Tuning (d) Both (a) and (b)

FDM is an analog multiplexing technique

used to combine

(a) Analog signals

(b) Digital signals

(c) Both analog and digital signals it

(d) Alternatively passes analog an
signal

-15-

81,

82,

83.

84.

85.

86.

87'

ENGT - 08 l(

qa;ammﬂ@" ‘Kﬁan%
oy g 7 0 T T, g
- :mﬂmﬂﬂ aH aﬁmmmm:
gyt 1Ve

(a) 0.7
(c) 0.3

WWWW*‘Q-W%(O) I
mﬁ[’ UﬁﬁfmwwLﬁgﬁg)

)
@ Q= %— (b) Q= _“’({;"L

(b) 0.5
(d) 0.8

(c) Q:moU(DL (d) Q:Uw_o;[‘.

s wffa G 1 8 kHz T A% foram 7 § o
8-frz /Avae 1 ITAM Fd L PCM T9 g7
fian 7T & | PCM ST O ¥0avg ¥ % e
¥ 4-da@ PAM W GaTRa foran Smar 8 | g=mwr i
RAAH AEEH A0S ST

(a) 16 kHz (b) 8 kHz

(c) 24 kHz (d) 10 kHz

X-3vg # wadss fie ' & @ fwies 8 vads
# 39T g SR

() T T5-yefta iRt

(b) T TH RS

(c) T Ru-wat sis

(d) T IMPATT 3RS

T g e Rreht v SR 2, 2,

Sl ~jzo % Y Wit & g R St &, dees
ST T I (VSWR) I 7H &

(a) 10 )2

e (d) =

o AR, #, e srars w1 @ e

(a) Tragoy (b) Reww
(c) Tt (d) (@) 7T (b) Bt

FDM T trett s nwie &, frewr
““""Lﬁm,ﬁtmm«m,
2 o fafree K Rrrer
(d)hﬁzﬁmz}maﬁm L
m it

2e20.12.13 22:07.



R er

; - Large internal faults in ARBISRR 15

) Protected by

a) Merz-price percentage
Protection

(b) Mho and ohm relays

(¢) Horn gaps and temperatul

(d) Earth fault and positive ¢

diﬂ'crcntia]

re relays
quence relays

A, the relay

89. |r the fault current is 2000 400 : 5, the

io is
Setting is 50% and CT ratio !

PSM will be .
(a) 25 (b) 1
() 50 (d) 10

ffer
90. An ideal circuit breaker shouldsobefore
(a) Zero and infinite impedance il
and after arc interruption res;;ec; vely
(b) Infinity and zero impedances belore 1
and after arc interruption respectively
(c) Equal impedance before and after arc
interruption
(d) None of these

91. A three-phase, 33 kV, oil circuit breaker
is rated 1200 A, 2000 MVA, 3 sec. The
symmetrical breaking current will be
(a) 1200 A (b) 3600 A
(c) 35 kA (d) 104.8 kA

92. With the help of reactive compensator, it is
possible to have
(a) Constant voltage operation only
(b) Unity p.f. operation only
(c) Both constant voltage and unit p.f.
(d) Either constant voltage operation or
unity p.f. operation

93. The most efficient torque Producing actuating

structure for the induction type relays
(a) Shaded pole structure

(b) Watt hour meter Structure

(¢) Induction cup structure

(d) Single induction loop Structyre

94. Why are the tern

il i, lead cableg used near
(a) Becauge they haye hig
Have g low
€Xpanhsion
(¢) Have low 8pecifie
(d) can Withstang ¢

h tengi]
coefficient of i e strength

thermal
gravity
hockg and Vibrationg

+16-

88.

89,

90.

913

92,

93.

94,

- (c) 50

ENGT - 08

graenft 3 ad st 2t @ en w0 #

(a) 7o -3vw ftrara st g g

(b) T8 Tt 3t f g

(c) & N qer @ f@ g

(d) -3 3R T SRy ) g

& 29w 2000 A, f& A 50% I HA,
3T 400 : 5 8, A PSM gm

(a) 25 (b) 15

(d) 10

@mmﬁvﬂmﬁﬁqﬁ-ﬁn%ﬁmﬁ
=fge

.(a)an%mmﬁwémmﬁm:’@

3R 3= Wit
(b) 3T T | v 3k A F o I
3R = sl
() 3Th ¥ @ vEd ot ag F wwE wRET
(d) ¥ ¥

T 3-%, 33 kV, o1 TRy frdes 6 1200 A,
2000 MVA, 3 sec @fuifa & | aafiq

urT gt :

(a) 1200 A (b) 3600 A

(c) 35 kA (d) 104.8 kA

et ftgen i weg & 77 T @

(2) Faw FRR diee weTe

(b)%aaméwﬁamm.

(c) Foort Sedst 3 sovrd Wiy Tories 2

(d) I @ R Hieest e sreran 3T wiey
TOTh ST

mﬁ%mmmmmm-w

(a):mw_:ﬁagam

(b) STe-wer fiex Hramy

(c) T~y weTT
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35.

96.

97.

98.

99.

100.
101.

102.

103.

dy
Given that === x2 i
dx +Y,W1thy(o)= 1’

when x = 0, taking h =
sher 1 iteration'Gsing Evlers modifed
111e

method is
224
() 1.228 (d) 1.232

The points where Newton-
fails are called n-Raphson method
(&) Floating

(c) Non-stationary

(b) Continuous
(d) Staﬁonary

Newton-Raphson method is :
u

a root Zi the equation x?2 - lséeci tg ?iftrtllpgtg

jteration is s ation after one

() 3.575

(c) 3.667

(b) 3.676
(d) 3.607

Which one of the following materials is a
diamagnetic material ?

(a) Copper (b) Nickel

(c) Iron (d) Aluminium

The structure sensitive property of a super
conductor is

(a) Critical magnetic field

(b) Transition temperature

(c) Critical current density

(d) None of the above

The 2’s complement representation of

decimal number [-17] is

(a) [100110] b) (101111]

(c) [111110] (d) (110001]

The smallest integer that can bé representefi by
an 8-bit number in 2’s complement formis |
(a) -256 (b) -128

(c) 127 @ O

n motor, the

se inductio :
ha € I'OtOI' 18 to

In" a single
gl high resistanc

reason for having
achieve

(a) Reduced size
(b) Low starting torque
(c) High efficiency

(d) High acceleration

BLDC motor is analogtous
s

(a) Permanent magne

(b) DCmotor . or

(c) Rotating trans$ orme o
(d) Single phasé inductio? mo

to

chronous motor

9

96.

97

98.

99.

100.

101.

102.

103.

o

ENGT - 0g

qax=0y0= 1% it fn

ﬂ;x’*y'
dx aﬁﬁﬁﬁqmwﬁwﬁaﬁamm
s I b) 1.224
@) 12 o (d) 1.232
g;%zaﬁmg—mﬂﬁrﬁﬁmam%
( ) G (b) FRa
a
(g R (d) for
g T <2 - 13 = 0 %1 ¢ Fehrent
' ;Eqm% £ T 2, 3.5 YRS IF OH, T
W%mqﬁﬁﬂ%
(a) 3.575 (b) 3.676
(c) 3.667 (d) 3.607
ﬁcr%rﬁﬂﬂqzwﬂﬁﬁﬂﬂ-mgﬁ@mﬁwg?
() Tl (b) Tt
(o) @& (d) TeaRFEm
@Wﬁéﬁmﬁmﬂmm%
(a)wﬁﬁgmﬁ'ﬂﬁa
(b) AT ATTHT
(d) ST F A FE T

o T [-17] 1 2's T F &

(a) [100110] (b) [101111]

(c) [111110] (d) [110001]

T Bier Uit R 2’ =9 8-bit T &
gian S Hehal B X

(a) =256 (b) -128

(c) 127 (@ 0

s e v o g A e A de T F
HR B, __,__mml

(a) BT AR :

(b) et e -3

(c) I=3 gaa ,

(d) ¥59 T
o0 e fo. o, v 9L

(a) Tt ﬁaa;
(b) ﬁ.m.g:?; g
(e R e T

(d) THe-selt X




105,

106.

107}

108j

109/

llg.

\y—:

rs are NOT
uirrel cage rotor, ‘h%::f are skewed
Parallel to the shaft,

In g g4
Placeq
to haye th
(a) Greater mechanical strenB
( SS rotor losses
(©) Uniform torque

one of the above

The presence of a dominant 7 :z::oﬁn-t:llen
he winding distribution of ki se th'e motor’

0 Hz, induction motor may ca

to crawl at a speed of abo

(a) 750 rpm P (b) 143 rp$

() 243 rpm (d) 500 1P d h

A synchronous motor iﬂs“t“liewit}altsl.tlc}?
receiving end substation operate € ook
an excitation that it takes ‘.’°wer1?a e gfgl thg
power factor. Now if the applied VO ths ower
synchronous motor goes down, ¥
factor of synchronous motor

a) Remain constant (b) Go down
((c; Be improved (d) None of the above

Slip of an induction motor increases with

(a) II)ncrease in current and decrease in
torque

(b) Increase in current and torque

(c) Decrease in current and torque

(d) Decrease in current and increase in torque

The slip of an induction motor normally does
NOT depend on

(a) Rotor speed
(b) Synchronous speed
(c) Shaft torque

(d) Core-loss component

A precise phase contro] foran A.C. load can
be controlled by a (an)

(a) Triac (b) SCR
(¢) Transformer (d) Trigger pulse

UJT is known as

(a) Voltage-controlleq device
(b) Current-controlled device
(¢) Relaxation oscillator

(d) A transigtor

OU

A .’%@

104. il (e ) At & a9 wwe F @rim
Tl v s R, At IR Ry w@y € @i
(a) 31fteF Tz nfFa (Strength) &
(b) W BFHat (Losses) #m &
(c) @M (Uniform) T~ Tt &
(d) 39 & A T

3%, 6-Yd, 50 Hz, o tiex £ frqoor Ty
# uh Y@ 7th gty % gufeafy ¥ wwor Hr
ﬁmﬁfﬁanﬁémﬁm%

(a) 750 rpm (b) 143 rpm

(c) 243 rpm (d) 500 rpm

T Goahrell Mt 0T ga-wve w @ wr 0
I & T el A 2 5 aw fre ol
qmmawimmé?ﬁélmuﬁw?ﬁﬁm
Wﬂﬂlél%aéﬁ (apsTléme;[i vo_ltage)mﬁm%,?h
el e

(b) 9 B IR

(a)@‘l’{‘%"ﬂ
(c) ur & (d) I F § +S &

S A R g TR wg wwdt 2
(2) U % Wt 3 -3t F wek
(b) 8T 3R F-3mmeet ¥ wgy §
(c) umr 3R Ta- F U q
(d) HRT % gt Tl qe-mey & wey

%%ﬁmthavﬁtmmmﬂsqmﬁﬁﬂﬂ

(a) T TR

(b) IoIFIeAt =TT
(c) IT¥E q-

(d) HIS-TIF wes

.2
G
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105.

106.

107.

108.

109.

mmm%mwmwmw
ﬁmmmﬁaﬁaﬁmmm%
(b) wE. .3,

(@ fom wig

@ g
(c) TaHPR

110.

111,




" .

' . _are IR S BT
A modern Power semi-conduct : 91'@/" ﬂd Q?R
112.  mbines the characteristics o;fdgglt(: g?qt‘ 112, T mgﬁﬂ;a £ ﬁrﬂﬂiﬂaﬁ W et B, w5 4 ;
ar)ldG lggSF Bl - MOSFET (b) FCT :
(a CT ?
() IGBT (d) McT (@) GTO (d) MCT

T
(c) IGB o ot ot (42 vy o

ingle phase full
115, Ini 806 € PRANECUL Wave
connet?tlon) feeding a highly ‘i’r‘:g“;zger M-2 [ 113, % & ;T:l‘ﬁ T ! T @R, T
the firing atr_lgle for each thyristor ;’: ‘1:’&?’ arcafi® e Frafn 01 TR Y Tk &
the respective half cycle. This period of RIS ¥ e i Ity |
cc;nductlon of each thyristor is‘s period of 2 2 l@zﬁ orgftEet 6 L
(a) -2 (b) m -a
(cn+a (d) 7 -2a ((3:+a (d) n-2a
114. In 3 f3-phase voltage source inverter | 114, 33 f # fegran ™I 2, Y AR i T Fem
urs:i p:; ajifej- c;ntrol of induction motor ¥ Rrw 3T ol I 9/ Th 3-hall Ao a
a lodes are used across each fearzm ¥
switching device as shown in figure. The Wﬁ%‘»;ﬁaﬁ feaf<m . 4 = A DI
main purpose of diodes is to %1 I9aN B 2l SIS & & IR 2
Inverter / Invester
T s % LT 0
i -
Converter-1 || S :T Converter-l‘ L::f;T_J
Py By §
—— e — L
R— Y ey
| . | e
Converter-2 Converter-2

(@) Protectlthe switching device against (8) a-acest % Raerw feafam fearwe =
(b) ;:e:/i‘(;o ttige th for free wheelin T it

cucx)-renet GRS ; (b) Sh1-=fmT A T weH FA & o

3 C

(c) Allow the motor to return energy during ()3 mlh ! ;it‘mm ﬁ Fal a9g FH A

regeneration d) T b

(d) IR Fw-ams = & weg & o

(d) Help in switching off the devices
115. 301 R et e e o o R

115. Consider the followin Lo ,
induction motor drives : ' "R AT I 2
high. 2. T4 A ST 3 forg I § |

1. Power to weight ratio is g g
Suitable for operation at high voltage 3. 359 9T e %

g statements related to

2. \
3, Suitable for high speed opcradtmn-v 4. TR TReder e adte. &
4. Power converter is simple &0 5. 9 o et 3tk s
economical. ¢ low cost. 6. fa‘\’iwﬁqm b
5. Speed control is easy and 0  F Y
6. Reliability is good- @ 1,2, 4 she
Out of these statements ) 2 3»
(8) 1, 2, 4 and 6 are correct » 3, 5 3R
(b) 2, 3, 5 and 6 are correc © 1,2, 33x
(c) 1.2, 3and 5 are correct | (d) 1,2, 33
y <y orreCt

are €
(d) 1,2,3and6 -19- 2020.12.13 22:07



ENGT - 08

: trol
gr:pﬁonst}mt V/F spctcodr ci(;‘nfr:;:u::c; 116. & fi-en oo et % R v/F =@ e 1)
ase induction motoh s Bror e 8 g e e et

¢ to the rated

Is increased from low valu ) and sl
value, the maximum torqu¢ ‘Tm?gr :e ghp IS TA-3 (T,,,.,) IR Ioaam Te-3mgf
corresponding to the maximum torque (S 1 gdor (S,,) e &
varies as ’
a) T » Sy &
(8) T, increases, Sy, decreases (8) Ty T01 &, Sy g
increases (b) Tmax W ‘g, Sm m 3

(b) Ty,ay increases, Sy, -
eas
(€) Tpmay constant, Sy, decr -
increas
(d) Tp,ax constant, Sy, increé

() Tmax PR R, S, T 8
(d) Trey R R, S, TgaT ?

117. 7fa % s F e & wiex ok wr ¥ wat-3mep

117. The drive has following equations of motor

and load torques in terms of speed %1 gt frey &
2 2

=— = = ="
T==+2,T =%, St2 =%
The equilibrium point is Tgem famg 2
() Unstable (a) R
(b) Stable - (b) R
(c) Marginally stable " (c) SuidiE fRR
d) Nothi i :
(d) Nothing can be said (d) TB & Fg1 51 gar

118. In a non-circulating current mode dual | 118. R-¥= YRT yorredt AR Fd #, war ¥
i ’

converters, the circulating current i i
e gcurrent is avoided T A AT R
(a) Cor.mecfting a series reactor (a) TH iEEII pis il iIE A
(b) Maintaining a, + q, = 18ge b :
L » (b) a; + a, = 180° T TEAT
perating only one converter (c) haw RS T T
(d) Adding an extra SCR d 31;‘:33 .
) T . WA, S
119. An SCRis made u i . |
P of silicon bec PN
N ause 119. s ug .. it s
(a) S1l-1con has large leakage Current th - 'm. s S s
< - (@) Rl & s ot o &

g€rmanium

(¢) Silicon has smgq)) le

ak
germaniym, 8g¢ voltage than

d e
(d) Silicon hag large Je
germaniym 8¢ voltage than

-20-
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120.

121.

122.

123.

124,

125.

For an application which requires smooth
and precise control over the wide range at
Jow cost, the motor preferred is

(a) Squirrel cage induction motor

(b) Synchronous motor

(c) D.C. motor

(d) Wound rotor induction motor

In adjustable frequency 3-phase induction

motor drives, for constant power application

the slip speed is kept

(a) Constant

(b) Proportional to synchronous speed

(c) Inversely proportional to synchronous
speed

(d) Proportional to square of synchronous
speed

The output of logic gate is 1 when all of its

input are at logic 0. The gate is either

(a) a NAND or an EX-OR

(b) an OR or an EX-NOR

(c) an AND or an EX-OR -

(d) a NOR or an EX-NOR

Hamming code is capable of

(a) Only detects single bit error

(b) Only corrects single bit error

(c) Detects and corrects single bit error
(d) None of the above

A D-flip-flop can be made from a J-K flip-flop
by making

() J =K (b) J=K=1
(©J=0K=1 d J=K

The complement of [(A-B+C)-D +E]-Fis
@ [(A+B).C+D-E]+F
() [A+B).C+D+E].F
©) [(B+B)-C+D]-E+F
@) [(A+B).c+D]-E+F

120,

121,

122.

1123.

124.

125.

@Wﬁﬁmﬁ'ﬁ‘mmtﬁamﬁ&
WW%WWWT@W%

(a) fér

(b) geaepTeht =Tt < HHIZA!

(c) FeaehTett =Tet % SEHATIA
(d) GearshTett =Tt % 7 & HEIIT

T @& T1e o1 fia 1 8 919 39 oft A 7%

I d

(a) NAND a1 EX-OR

(b) OR T EX-NOR

(c) AND 1 EX-OR

(d) NOR 1 EX-NOR

&M is wam R

(a) o T fre-3R 1 war o 2

(b) Wﬁz—g&aﬁmmz

(c) T rR-3R 1 var o & ww @ @R
3% ft Fwar @

(d) ST F R Y 7y

D'W‘Wﬁd-xw-m%mmm
8, Pl 3 R et o 3 2w
(a) J=K :

b) J=K=1
(€)J=0,K=1 @ J=K
((4-B+C)D+E]. o
@ [(A+B)-C+D.E]+F
() [(A+B):C+D+E
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